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which one of the following stages of the cell cycle s seen in the diagram given below?
(1} Anaphase (2} Prophase 1) Metaphtie  (4) Telophase (5) Imerphase

which of the following three nitrogenous bases are common to both RNA and DNA?
(1) Cytosine, uracil and adenine T3} Cytosine, uracil and thymine '
(3) Guanine, adenine and thymine (4} Cytosine. adenine and thymine

(5) Cytosine. guanine and adenine

T "
Which of the following siatements ii(u‘;f/:;pﬂ‘l’regm'ding respiration?
(1) Glycolysis produces more ATE urder aerobic conditions than under anaerobic conditions.
rowth rate of veas underacrobic conditions is higher than that under anaerobic co
(3} Glycolysis of muscle cells under aerobic conditions does not yield lactic acid. ~~
(4) The net ATP production during aer obic respiration of glucose is less than 38 maolecules per molecule of

glucose in sormne cells,

{5y Carbohydrates, lipids und proteins ¢an act a5 respiratory substrates in aerohic raspiraliun.\-""
-

o
Which of the following is an incoprect statement?
(1) Cytoskeleton is found anty In eucaryotic cells.

2) All organellcs in cugsryotc cells are membrane bound.

(3) Mitochondria are believed to have originated from acrobie acteria.
(4) Ribosomes found in mitochondria are different from those found in the cytoplasm

(5) All cell membranes have a lipid protein bilayer structure.

To which of the following phyla does Selaginelfa belongs?

1y Chlorophyia {2 Bryophyta (3) Cycadophyta  (4) Prerophyia (5} Lycophyta
nohacteria?

Which of the following statements is correct regarding Cya
(1) All of them lecomote by Nagella.

(2) All of them are found in fresh water

(3) Allof them form colonies.

{4) All of them fix atmospheric nitrogen-
(5) All of them possess photosynthetic pipments other than chiorophyll

Si Lankan elephants are considered 10 be
(1) eritically endangered organisms

(2) endangered organisms.

{3) vulnerable organisms.

(4) conservation dependant organisms

{5) threatened urgﬂr‘:i:il‘ﬂi-
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i i one became extinel first”
Of the Tollowing groups of organisms, whic ! et i)
{1} Ammonites (1) Dinosaurs (3) Trilobites {4) Fly Mammotis ,.
' hinoderms because they
':::hlm'ﬂu_h ;!:d!f;:::':;;nlhnr echin e e epiiory et
(3) posses: {4) Lack ananus (5) possess e

(3) possess spicules
tatement, g
Select 1he Ineorreel statem hods of reproduction sexual reproduction 1% advantageous because

When compared to asexual met
al reproduction.

(1) it is faster than asexu ol o
(2) it increases genetic diversity within populations. .
(3) it provides a method of eliminating harmful mutations from p'll:lpujahm*:r
(4) it helps the propagation of species inio new environmental niches.

{5) it makes the evolution faster process.
Which of the following is incorreet regarding the embryo s8¢ c:uf ﬂ::!gimperms‘? w
{1} The embryo sac contains & diploid nucleus. (2 Meiosis 1ﬂkeslp]ace_ inside the embryo sac
(3} Embryo sac is nourished by nucellus. {4) Embryo sac gives rise to endosperm.

{3) Embryo sac contains onfy one female gamete,
en Pagonatium and Nephrolepis is incorreet?

Which of the following statements of comparison berwe
Paganafum Nephrolepls i
(1) Sporophyte is not differentiated into stem, root Sporophyte is differentiated into stem, roots and
and leaves. leaves:
{2) Gaemetophyte is bisexual Gametophyte is bisexual
(3) Male gumetes are biflagellate Male gametes are multiflageliate.
{4) Sporangia are not produced in groups. Sporangia are produced in groups.
(5) Zygote does not produce and embryo Zyzote produces and embryo.
E

Which of the following is a natural plant growth substance?
(1) TBA (2) NAA {3) MCPA [y 2, 4=12 (5)ABA

I

Which of the following statements is incorrect regarding Cyeas”

(1} Sporophytes are unisexual.
(2} Megasporangium produces scveral female gametophytes

(3} Microsporangia open by annulus.
(4) Pollen tube is nourished by nucellus.
(5) Male gametes are multicilliate.

Which one of the following helps the phioem translocation least”

(1) Mitochondria in the companion cells.
(2) Plasmodesmata between companion cells and sieve cells

{3) Sieve plants of sieve tubes.
I

{4) Transpiration.
(5) Hydrostatic pressure in sieve tubes,

Which of the following 15 an incorrect statement?
{1} Stomatz open when guard cells absorb K' ions from neighbouring cells

(2) Guttation takes place when stomata are closed.

{3) Transpiration may take place through the cuticle,
(4) Rate of transpiration of a plant shoot can be estimated using a potomener, ’

{§) Transpiration helps to absorb waler by roots.

Which of the following compounds is an imermediate in both respiration and photosynthesis”
(1) Malate {2) Phosphoglycerate, {3) Acetyl Co-A

(4) Lactaic (5) Citrate
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: followy ing emoni b ¢
which of the F considered ns a irac
g Me (2) Mn "‘":,':*;'fl"" In plant compositiont?
) (4) 193 Mo

ik one of the Tollowing s not iry
1] _1:':1“.,' take place 10 part of g ||1nn: reaniding tastic movements?
) They arc growlh or urgor movements,
1y Direction of tesponse does not depend on the direction of st|
(d) Mechanisiy of movement depends on the movement of m.r:u:;i e
(8) responding cells are located in special regions of the plani !

é I man. simple squamous cpithelinl cells are found in
i (n inner lining of stomach. (2) alveoli ¢

. 1) epicermm of thin
(4) urinary bladder (3) convoluted tubules of nephrons ri .

::I:i :;1:: of the following statements is incorreet regarding resting membrane potential of J—
(1) Itoccurs in the plasma membrane of the neurone.

(@ It results from unequal distribution of ions across the plasma membrane of the neurone

3 It is about - T mV '

(4) Ies maintenance requires ATP.

(5) Itcan move along the axon,

p  Select the correct statement regarding human eye.
(1) The wall of the eyeball consists of two layers of tissue.

{3) Fovea is the cone free area of the retina.

(3) Rods are very light sensitive.

(4) Vitamin D is connected with night blindness.

(5) Elongation of the eyehall could cause farsightedness.

Sy iy — .l

{8 Inman, maturation of sperm takes place in

i (1) seminiferous tubules (2) epididymis {3) vas deferens
i

i

(4) ejaculatory duct (5) seminal vesicles.

''M Which one of the following stalzments is ineorrect regarding ovulation in women”
{1} It usually occurs around day 14 of the 28 day menstrual cycle.
(2) Itisthe ejection of the primary oocyle from the Graafian follicle.
(3} Progesterone suppresses ovulation.
(4) LH stimulates ovulation.
(5) It stops during pregnancy period.

B A damage to which part of the human nephron given below is most likely to produce glucose positive urine?

(1) Proximal convoluted tubule (2) Descending limb of loop of Henle  (3) Loop of Henle
(4) Ascending limb of loop Henle () Distal convoluted tubule.

N Which one of the following statements is correct regarding human vertebral column

(I} 1t consists of 35 linearly arranged vertebrae.

{2) The sacral curve appears afler hlﬂ!l-

() The first cervical vertebra ii1haﬂnli{.lm o

M) Lumbar vertebrae are the Jargest an SRrOfig= _
() Sacrum is formed by the fusion of four vertebrae and three interveriebral discs.

" | regarding human gortisol hormone?
Which one of the following siatements 1§ incorrect uim i.fl O hiiad ghouaos ool

(1} 1t is secreted by adrenul corex. (4) 1t helps in withstanding stress

() It stimulntes breakdown of proleins. %
lale its secretion.

(5) Both CRI and ACTH con regu
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B Which one of the following stacements §s not an action due (o stimulation of parasympathetic neryg, f

avstem?
(11 Constrietion of pupil
(41 Seinulation of sweating

{2} Constrigtion ui’hrunli:hi:_rlcu {3) Stimulation of salivary — t
{5 fncreasing peristalsis of the gut

20 In man, receptors sensitive to pressure are not found in _ . _ !
(1} joints {2 muscies, (3ninesenteries.  (4) epidermis {5) dhermis.

Following list indicates § different patterns of nonmendelian inheritance with one example for each. Only gn,

i
of inheritence with correct exarmplie. .

of the examples given in corvect, Select the pallers

(13 Polyallelism - inheritance of plumage color of chicken. .
(2} Incomplete dominance - inkeritance of AR human blood groups :

(3} Sex-linked inheritance - inheritanze of haemophilia.
{4) Epistasis - inheritance - inheritance of haemophilia,
{5) Aneuploidy - inheritance of flower color of Mirabiiis plant

3 Which of the follawing stalemenls is incorrect regarding Hardy Wemnberg equilibrium n populations?

(1) Occurrence of mulations can disturb the equilibrium. i
{Z) Emigration of membzis does not affect the equilibrium.

(3} The equilibrium is maintained onky in big populations.

(4) It is difficult to find nararal populations in which this equilibriun is maintained

(51 Inevolving populations the equilibrium is nol maintained .

52 Which of the following statements 5 incorrect?
(1} Bacterial plasmids are used as vectors in gene cloning.
(2} Bacterial genes have been introduced into some crop plants wsing genelic enginesring technigues
{3) Ligase enzymes can cul long DA molecules into short picces,
{41 DMA probes are used to detect DNA molecules with similar nuclectide sequences

(5) Bacteriophages can be used to make vestors For gene cloning.

33 Which of the following statements is incorrect regarding murations?
(F} Most mutations cause sterility, f2F Wost Mutations are recessive.
(3} Most mutations arc cavsed by orrors of DN A replication. 4] Cocurrencs of mutations can be usefsl

(31 UV radiation causas mutations.

M In cats, presence of white patches is a dominant characier while single colour is recessive. Short hair is 2
dominant character while long hair is recessive. When a cat with white patches and short hair was crosssd
with & cat with single colour and leng haiv, four kitters were born; ane with white patches and shart hair, one
with white parches and long hair, one with single colour and short hair and one with single colour and lorg |
hair. Which of the following conclusions is incorrect regarding the above cross?

{1} This cross i equivalent Lo a test cross.

{2) This cross involves two independently segregating penes.

(3} The kitten with white patches and short hair in the progeny is homozygous with regard 1o both genes-

(41 One of the two parents is heterazypous with regard to both aenes,

(5) The kitten with white patches and long bair in the progeny is heterozygous with regard to white patehes
character.

¥ White Wyandotte and white leghorn are two breeds of chicken with Fully white feathers. Both are e
breeding types. When white leghorns are crossed with whiee Wyandatte, all F birds are white. When the F,

birds are inbred, the F, progeny has white birds and coloured birds at 13: 3 proportion Which of the
following conclusions is incorreet regarding this inheritance

{1} Inheritance of feather colour invalves at least twao genes

{2) This is an example for epistasis,

(3) Two complementary genes are involved in this inheritance

(4} F, birds should have heterozygous penotypes.

(5) Both parental types have homozyeous penotypes
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which one of the following 15 least affegy

“ Er..“d“._prqi_t!l' {?}[il(ﬂﬂﬂ]lﬂlhpﬂrﬂlum
s Soil pH (51 Siltation of water bodies YRl panery

ed by clearing o) Torests?

which ene of the following statanents s incorreet?

(1) Living resources can be managed in such a way
) Hydroelectricity is a rencwable energy resource al
3) Every person hzjs a responsibility in looking afler |
) The problem of sed level rise has o be solved by
(51 Development projects cannol be carried oul wit

they are always renewable

1hl well being of the environment
individual countries.

Rout harming the natural environmen

when compaced with tropical bioimes, the temperature binmes
() haved higher biclogical diversity _
(7) have 2 higher density of plants,
(3) have wrees which do not show annual growth rings
id) show clear stratification in plants,
15} have more deciduous plants.

q

which one of the following aclivities of man affects the carbon cycle least”

i1 H;:..-dmelt:ciri:; oW e Eenaration, 12}y Usc of fossil fuels, {3} Lame industry
i) Disposal of garbage. (5) Clearing of forests.

which one of the following muy not occur due to overuse of waler in agriculture”

{1} Increase productivity {2) Increasc in soil salinity 13) Ewtrophication
{4) Aquatic pollution (5) Water logging

An encapsulated pathogenic baclerium can be more virulent because the capsulc
i1} is made up of polvpeptide or palysaccharide materisl

{2) acts as an endotoxin

(3) destroys hosl fissug

i) interferes with physiclogical processes

{5) resists phigocylosts

The type of immunity produced in an individual following imjection of telanus tuxnidl 18 k'f‘:'“"“ s
(1) naturally acquired passive immunity. (2) natjnmflly a:qunfdhtredfmy unmn.l'my
(3} narurally acquired active immunity. (4) antificially acquired passive immunity
(5) artificially acquired active immunity

Which onc of the following groups of microganisms is found in highest numbers in one gram of fertile

agricultural soil”? (4) Unicellular algae 15) Protozoa

{f} Fung {2} Cyanobacteria (1) Bacteria

Indian carps are widely used for aquaculture in Sri Lanka mainly hecause

(1) they can be easily caught by pole and line.

2) they are capable of repraducing naturally

(3) they produce large number of egas.

4) they have red firm flesh preferred by consumer

{5) they feed on lower trophic levels of the ecosystem.
o i hereria bancrofli”

Which one of the following, statements 15 incorrect regarding HRUcrere f

(I} The females are larger than the males

@) The fernales do not lay EEES:

3} No development takes place w

) Adult stage is reached in the Iymnph

{5) Larvae show nocrurnil periodicity

ithin the mosquit-
nodes of man
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Ity Didie eveele of Masarodivm v

(1) melosis accnrs in the aocyst within the mid gul wall of The masquite

(2) spomzoites produeed fn the liver cells are released into the bland strear in large nurmbers
(31 exo-ervilicocytic phase ineludes the stages in the liver cells and mosquite.

(1) gamctocyies are produced from 1he merozelles within the mid gul nfm:::'mull{r

(5} large number of meroaoites enter the human bloot wlen maosguitoes bite,

Which one of the following features seen in an Inseet pest could be used 1o identify » coleopteran?
(1) Presence of biting and chewing mouth parts, (2) Presence of three pairs of legs.
{3} Presence of two pairs of wings {4y Presence ol heavily thickened forewings

05 Presence ol a rostron,

A shark differs from a skate due (o the presence of
(1} spiracles {2} ventral mouth

(4) interal eves (51 ventral fins,

i3} heterocercal caudal fin

In a statistical analysis, the chi square value was calculared o be 3.86 and the critical chi-square value from
the table for the relevant class value at 5% level of siznificance was 3.84. Which one of the following
statements is correct regarding the data thet werne analysed?

(1} Data are normally distributed.
{2) Observed frequencies are significantly different from the expected frequencies at 5% level,

(3} Observed and expested frequencies are not significantly different from each other at 5% level,
(4) Standard deviation of obscrved froguencics is higher than that of the expected frequencies by 5%,
(5) Observed frequencies are significantly higher than the expected frequencies at 5% level,

IT the standard deviation and number of oheervations of one data g2t is 9 and 3, and those of the other dara

s2f i85 6 and 4 respectively, the standard error of these data is

t17 o 15
(1) 3 (2} (345 (4) 4.5 {3) 4

For each of the questions 51 to 60, one or more of the responses isfare correct. Decide which of the

response/responses isfare correct and then select the correct number.

[fanly A, Band D are Comect ... s |
ifonly A, Cand D are cortect ..o cas v el
[fonly A, and B 8re COMECE ..o it cecessseses senrsenss e sns 3
IFany other response or combination of responses is correet ............. 5
) Directions summarised
[ 2 3 |4 5
AB.D A,C, I A B | C,D Any other response or
jeorrect | correct correcl correct combination of responses comect.
i . .-"I,- - 1 )
Which of theTollowing charaeteristics is/are found only in procaryolic organisms?
(A) Angefabic respiration (B) Mucopeptides in the cell wall.

resence of nuked circular DNA in the eytoplasm (D) Ability to fix af s o
Reproduction by binary fission o ¥ mospheric nitrogen s

52 In a plant cell, ATP synthesis can ocecur in the

>

fA) cyloplasm, -~ (B} cell membrane ©) chi
' ' ' oroplast v
(D) mitochondria « (E} endoplasmie reticulum, ] i

)
___-r'

.

4

-
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g of the following statementy ja/y e
which of . A COrraet pe
e unicellular, wrding prejy
iy TM}-TIW in aguat | : By 5 s! -
y They live in aquatic and terrestiinl habjipyg o DOMe of them are procaryotes, >
'II_:} rl'm:p’ are f“h cr ﬂhSUI‘F’l IV oF phﬂ':'!-}l“u’!“ﬂ\-"’,- } Thﬂir :E” “'ﬂ“ "‘ ar: - #’ 5
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8oth eardine and smooth muscle filareg
) are involuntary. (B} are myogenie i
5 e %) an :a,-m;:gd, (C) are uninuelesmte

ich of the follow ing statement's is/arg o i
{T; It is regulated by negative feed back :::;;?:4: il';ﬂ“ﬂ‘:fdl!lg homolothermy in men?
@) Hypothalamus is essential for hﬂmﬂinthr:rmy.
Elavation of lcmperaturs is sensed by Krause’s bulbs,
o) Erection of hair plays a major role in reducing heat loss.
€ Homoiothermy is achieved mainly by in'.-'uiuntary mechanisms,

Which of the following cannol be considered as a population®
(A) Nematodes in the atimentary canal of an infected person,
@) Mangroves in Mannar district.

{C) Elephants in the Wilpattu National Park

(@) Shrimps in Negombolagoon,

[E) (reachromis mosrarmbicay in Parakrama Samuodra,

Which of the following is'are o weedsweeds that is most likely to be found in dry fands?

{A) Eupatorium sp. (B} Lawtanasp, (C) Eichhornia ip

D) Drosera sp. (E) Népenthics sp.

Which of the followimg  bacteria isfare important causative agent’agents of diseases transmitted dwough
drinking water? '

(A) Mycubaeteiiom iuberculosis (B3} Clasiridium terntan {C) Salmoneila typhi

D) Shigella fexneri (E) Staphylococcus aureus

. Fungi differ from bacteria in that the fung

(A} are heterotrophic organisms,
B produce extra-cellular enzyrnes.
(C) have cell walls made up to chitin

(D) are non matile arganizms. o _
(E) show mutualistic associations with other living organtsms

Agar added 1o microbial culture media. _

{A) acts as a source of rutrignts for MiCrorganisms.
(B) is a polysaccharide.

(€) is used to make the medium coloured.
D) solidified approximately at 40°C afler liquification.

. : fungi
m m“fﬁb substratum fo {I‘bﬁ!r'ﬁ't—' Wlﬂn!f' foormatian ol b-WI:Et‘i! H“d B
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